m Aluminiumgehé&use ausgestattet mit stoBfesten- und antirutsch-
Schutzecken.

GEHAUSE KATALOG

m Verfiigbar in 8 GréBen und 5 verschiedenen Schutzecken
Farbvarianten.

m SondergréBen realisierbar.

m Aluminium case equipped with shockproof and

anti-slip corner guards.
m Available in 8 sizes and 5 different corner guard color variations.

m Custom sizes available.

Included screws

Corner guard screw - M3-8 Hexagonal : Steel : Trivalent chromate x 16 pcs

Case screw - M3 Hexagonal countersunk : Steel : Trivalent chromate x 12 pcs

%2 Hexagonal wrenches included. (The larger for corner guard screw, the smaller for case screw)

Komponenten
I N 7L T
Oberschale 1 Aluminiumprofil A6063s-T5 schwarz / lackiert
2 Unterschale 1 Aluminiumprofil A6063s-T5 schwarz / lackiert
3 Frontplatte 2 Aluminium A1100P t=1.5 schwarz / lackiert
4 Verbindungsplatte 2 Stahl SPCC t=2.0 chromatiert
5 Schutzecke 8 PP + Silikon schwarz ® smaragd griin ® grau ® navy ® rot
6 Schutzeckenschraube 16 Stahl chromatiert
7 Gehauseschraube 12 Stahl chromatiert
Components
I S B B 7 S
Top cover 1 Extruded aluminium A6063s-T5 black / painted
2 Bottom cover 1 Extruded aluminium A6063s-T5 black / painted
3 Panel 2 Aluminium A1100P t=1.5 black / painted
4 Joint plate 2 Steel SPCC t=2.0 trivalent chromate
5 Corner guard 8 PP + Silicone black ® emerald ® gray ® navy ¢ red
6 Corner guard screw 16 Steel trivalent chromate
7 Case screw 12 Steel trivalent chromate

Farbcode - Color Type

schwarz / schwarz schwarz / smaragd schwarz / grau schwarz / navy [B]R] schwarz / rot

black / black black / emerald black / gray black / navy [BIR] black / red

Farbe
Color




45 41

l
LJ

=
I

[

a0

©
o

Montageplatte Serie UCC Kunststoffgriff Serie FM200
Mounting plate UCC series  Elastomer handle FM200 series

= Bitte vervollstandigen Sie die Bestellnummer mit dem Farbcode am Ende.

Best-Nr. / MaBe - Product no. / Dimensions m Please suffix color code at the end of the product number.
= N R I R IR Q===

@ UCG15- 9-200] 168 108 214 150 90 200 YES 1.14

D UCG18-10-24[1] 198 118 254 180 100 240 YES 1.44

D UCG18-18-28[]] 198 198 294 180 180 280 n/a 2.23

D UCG20- 9-140]0] 218 108 154 200 90 140 YES 1.13

@ UCG22-12-16[] 238 138 174 220 120 160 n/a 1.28

D UCG26-10-18[]] 278 118 194 260 100 180 YES 1.96

@D UCG32-12-22[]] 338 138 234 320 120 220 YES 2.13

D UCG38-15-26[][] 398 168 274 380 150 260 n/a 3.19

m Montageplatte kann kundenspezifisch bearbeitet werden. - ® Mounting plate can be custom ordered.

INEW,

Anwendungsbeispiel Application example

m Schutzecken fiir Serien UC ¢ UCG. m Corner guard parts for UC ® UCG series.
m M3 Gewindel6cher ermdglichen einfache Montage. m M3 thread holes are required in order to fix on UC series.
m Verfligbar in 5 verschiedenen Farbvarianten. m Available in 5 different color variations.
45 Komponenten
. T S BT
®38 1 Schutzeckenbasis PP
(_F[T 2 Schutzecken Silikon
= & 3 Schraube (M3-8 Hexagonal) Stahl
2 € Components
1)) T S N
1 Corner guard base PP
132 2 Corner guard Silicone
41 3 Screw (M3-8 Hexagonal) Steel
Best-Nr. / Details - Product no. / Details
Best.-Nr. - Product no. Gewicht VPE
@ schwarz - black smaragd - emerald grau - gray @ navy @ rot - red Weight (g) Pack of
D uG-1B D UG-1E @D uG-1G6 D UG-1N @ UG-1R 210.5 8

Included screw : M3-8 Hexagonal : Steel : Trivalent chromate x 16 pcs + 2 Hexagonal wrench

www.19zoll.com




